N = 0 &8 AF S & Al A
2000 &= =20l & LEgH|
A ASIS X1
Hu: 20| ZMEEE
S9l: HASE JZMHEH (SH9l:®el)
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
Ar3l = Xl Bt 77,108,328 68,346,401 8,761,927
= 42,385,969
= 2,009,975
= 10,135,796
Al 22,576,588
20| =MEEE 27,523,817 25,112,353 2,411,464
= 21,725,043
== 2,563,044
Al 3,235,730
NASS JIZMEEH 25,192,080 22,525,800 2,666,280
= 19,938, 179
& 2,444,814
Al 2,809,087
IZMHESEE MAZSAH 18,560,000 17,063,750 1,496,250
= 14,848,000
= 1,856,000
Al 1,856,000
301 KEt2AS 17,865,000 15,863,750 2,001,250
= 14,292,000
& 1,786,500
Al 1,786,500
01 MIBEHHZ2 17,865,000 15,863,750 2,001,250
OQJl=ME2 2 MHS
17,865,000, 000 * 14! 17,865,000
= 14,292,000
== 1,786,500
Al 1,786,500
307 QI2tolA 695,000 1,200,000 505,000
= 556,000
== 69,500
Al 69,500
02 0I2tFAE X 695,000 1,200,000 505,000
OBEAIL MHS0f 695,000, 0002 *14} 695,000
= 556,000
o= 69,500
Al 69,500




M AR =X
M. 201)|ZME X

Gl HASE NEMBRI (S92l ®el)
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
I ZMESE F=HZH 4,921,250 4,485,000 436,250

= 3,937,000

& 492,125

Al 492,125

301 getEazg 4,821,250

= 3,857,000

& 482,125

Al 482,125

01 AMIEBHEHESGS3 4,821,250
OBIEETEES

4,821,250,000& * 14 4,821,250

= 3,857,000

& 482,125

Al 482,125

307 glz2told 100,000

= 80,000

& 10,000

Al 10,000

05 QIZIRIEZ 100,000

OFAHEESH &= 100,000, 000& 14 100,000

2 80,000

& 10,000

Al 10,000

IZMEEE NE30 558,750

= 447,000

& 33,525

Al 78,225

301 YEtEa= 558,750

= 447,000

& 33,525

Al 78,225

01 A3IE2EE =63 558,750

OJI=das2E 558,750,000 * 14 558,750

= 447,000

= 33,525

Al 78,225




M AR =X
M. 201)|ZME X

o9l HASS JIZMERE (E+9): @2

SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
IO ZMEEXHLARSG 2Y 2,800 2,800 0
201 B2 IH| 2,800 2,800 0
01 ArR2t2|bl 2,800 2,800 0
O3 28 2,800
> RODIZMBLEAS B0 HHS
=3 70,000& 1001 43| 2,800
NASF0l MEot™X|&Z2 100,000 100,000 0
301 Et2AS3 100,000 100,000 0
01 MIBEHHZ2 100,000 100,000 0
OMASTD MHINXAZ
2,000,000& x50¢! 100,000
MNASF0 HABE= XA 100,000 50,000 50,000
301 8 AZ 100,000 50,000 50,000
01 A E&EE56= 100,000 50,000 50,000
O HASFO AYLH2 N
100,000,000 * 1Al 100,000
HNASE 2K 34,000 40,500 6,500
= 10,200
Al 23,800
206 M= 34,000 40,500 6,500
& 10,200
Al 23,800
01 bl 34,000 40,500 26,500
OMASE F4e2l N 34,000, 000! *14] 34,000
= 10,200
Al 23,800
Xhate 2A=Sol X & 54,750 26,250 28,500
= 43,800
== 3,285
Al 7,665
201 LetEAd| 5,500 0 5,500
= 4,400
& 330
Al 770
01 AtR22id] 5,500 0 5,500




M AR =X
M. 201)|ZME X

Ool: HASE JZMHEH (et9l: &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2

O1 LbBt=2H]| 5,500
DIae= 285U= 5,500,000& =14 5,500
= 4,400
< 330
Al 770

301 LertgAa= 49,250 26,250 23,000
= 39,400
= 2,955
Al 6,895

01 A E&EE56= 49,250 26,250 23,000
OXtatf =80l X3 49,250,000 * 14! 49,250
= 39,400
T 2,955
Al 6,895

(o) RIS S =10 89,224 100,000 N10,776
= 71,379
= 5,354
Al 12,491

301 Et2A= 89,224 100,000 N10,776
= 71,379
& 5,354
Al 12,491

01 A& E 6= 89,224 100,000 N 10,776
Odllat. EHZ N 89,224,000 14 89,224
= 71,379
= 5,354
Al 12,491

HNASS HUHXNEXZS 738,750 0 738,750
= 591,000
= 44,325
Al 103,425

301 KE2AS 738,750 0 738,750
= 591,000
= 44,325
Al 103,425




M AR =X
M. 201)|ZME X

o9 HASS JZNEST Rk
SN EE - ER(EN) - NRAY - BaS sl e HlRE2
0 & 24
01 A2HA53 738,750 0 738,750
OJlz==X 0UXEEx=3
626,250,000 14! 626,250
= 501,000
= 37,575
Al 87,675
OXtat2AZ e HUHXEXE=
112,500, 000& 14l 112,500
= 90,000
< 6,750
Al 15,750
I ZHESBTAHAIL X 32,556 0 32,556
206 TH=Hl 32,556 0 32,556
01 M=z 4l 32,556 0 32,556
O JNEAYAL(HSRH LX)
12,0003 *2, 713 AI CH 32,556
22 ALY 2,315,537 2,557,853 N242,316
= 1,786,864
= 113,370
Al 415,303
NE=ONF! 1,872,883 1,958,851 A 85,968
= 1,472,864
= 105,270
Al 294,749
101 el H] 926,000 1,224,932 N298,932
= 731,540
= 58,338
Al 136,122
10 JIZtH2=AsSE=+ 926,000 1,224,932 A 298,932
ORE2Z ALY (KAL)
926,000,000& 14! 926,000
= 731,540
= 58,338
Al 136, 122
307 QIZ2t0IA 946,883 733,919 212,964
= 741,324
L= 46,932




A ASISE X
Hu: 20| ZMEEE
el HE22 ALY LR
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
307 QIZ+tol A Al 158,627
02 OI2tFAE X 226,883 213,919 12,964
OXNG XA HSAAS 202,899,000 14 202,899
= 153,790
Al 49,109
OAZIEESTZ2 ) HSHAS
23,984,000 * 14! 23,984
= 19,074
o= 1,470
Al 3,440
05 oIt 720,000 520,000 200,000
OXEZ2Z AL (CIZ2HRE)
720,000,000 14 720,000
= 568, 460
o= 45,462
Al 106,078
JLAF. 2HE I 2= 20| AFY 320,000 443,499 A 123,499
= 224,000
Al 96,000
307 QIZtolA 320,000 443,499 AN 123,499
= 224,000
Al 96,000
05 oI2tf&32 320,000 443,499 A 123,499
OJIAIZYYE E0IA Y 320,000,000 * 14 320,000
= 224,000
Al 96,000
ANEAEZH 117,000 154,249 N37,249
= 90,000
== 8,100
Al 18,900
301 e AZ 117,000 154,249 N37,249
= 90,000
& 8,100
Al 18,900
01 MIBEHHHZ3 117,000 154,249 N37,249
OXNEASEM(AHEEHAS)
117,000, 000& * 1 Al 117,000




ST ASI= XD
HH: 20| ZMBELE
o9 RED2 ALY k)
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 glggi; B2
= 90,000
= 8,100
Al 8,900
INEMEETIZ 2 1,654 1,254 400
201 Ysregyl 1,654 1,254 400
01 A2t 400 0 400
O1 Yur4gy) 400
PIIEMESZIIZBNIHER UES
SAAHOISR 400,0002 14} 400
02 ZZ=2YY 1,254 1,254 0
O3 A& FE SR 1,254
> IIEMESRIZ SARe T2
ST 22| 1,254,0008 14! 1,254
NE2 D3 DSAY 4,000 0 4,000
307 21201 4,000 0 4,000
05 OIAFIES 4,000 0 4,000
OXtEo2 D3 WRAL 4,000,002 14! 4,000
SIEZZCIABAX AL BT A AL 16,200 28,700 £12,500
= 4,860
Al 11,340
SIBZCABTAX AL BRX ALY 16,200 28,700 A12,500
= 4,860
Al 11,340
01 LY 16,200 28,700 A12,500
= 4,860
Al 11,340
01 MIEZEAHS 16,200 28,700 A12,500
OARSCLBAX ABAT
16,200, 00024 #14] 16,200
= 4,860
Al 1,340
ABIZRIDIE 4 o BOHA=ZX S 13,516,906 11,514,530 2,002,376
= 3,561,536
= 1,230,474
= 3,854,452




AN A2 =X

o AB=X0IM R L BOjOI=X BX
S AEIST DB R (et9l: &2
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
Al 4,870,444
ASIZX] JlBtx o 1,800,451 1,050,573 749,878
= 526,427
= 205,956
Al 1,068,068
SeAte| =SR2 XI& 1,108,891 1,045,533 63,358
= 526,427
Al 582,464
202 O4Hl 6,000 5,664 336
01 =UWobl 6,000 5,664 336
OIZMELE 22 £ 0fY|
500,000& x12& 6,000
301 YotEAE 1,000 1,000 0
10 SAIAHIEAS 1,000 1,000 0
OXNSAME =X SAA W=0H
100, 000& *521%23] 1,000
307 2IZ2t0lA 977,868 915,792 62,076
= 418,004
Al 559,864
02 gltFaEx 977,868 915,792 62,076
OZEAMa =X 2 23| 759,388
> JIE (OIS HEBEAS ST D)
286,821,000& +204 2 573,642
= 219,360
Al 354,282
> UE(FFSEAE SR
185,746,000& * 14 & 185,746
& 81,266
Al 104,480
OMIt=EXNSAHEEH 23 H|
63,160,000 37 2 189,480
& 117,378
Al 72,102
O0lssX& 2LHI(JtEESRR)
29,000,000& * 14 29,000
402 QIEXE01 M 124,023 123,077 946
&2 108,423
Al 15,600




AN A2 =X

o AB=X0IM R L BOjOI=X BX
S AEIST DB R (et9l: &2
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
01 QUAR=2EX 124,023 123,077 946
OZgAMa=X2 JIs22
124,023,000 * 14 124,023
2 108,423
Al 15,600
KNEAMISXE2AM 2 5,040 5,040 0
201 ZEH2EH] 5,040 5,040 0
01 AR 2&cldl 5,040 5,040 0
O3 2% 5,040
DAGAMS=XNE M 312 HFNH+H
70,0003 x3621 23| 5,040
ASISTIAE BSAL SX=S(SR2 U8, ol & 666,720 0 666,720
OH)
L= 200,016
Al 466,704
307 glz2told 666,720 0 666,720
& 200,016
Al 466,704
02 glztFaEx 666,720 0 666,720
OMBISXAIESAX SXZ(SX2, X1
g Lol mojel) 666,720,000 * 14! 666,720
= 200,016
Al 466,704
JHel2HA DAL KR (=0l, &0H) 19,800 0 19,800
& 5,940
Al 13,860
307 QIt0IA 19,800 0 19,800
= 5,940
Al 13,860
02 QtFAE X 19,800 0 19,800
OMRI2IAMDAIL 2EXJ (0, ZoHel)
19,800,000 14! 19,800
= 5,940
Al 13,860
ZOH=ERNAIE 2SN 5,934,730 4,720,168 1,214,562
2 670,541




SA

At=l = K| 2t

B A= X4 2 HHoI=X =X
el ZoHeI=EXAIE 2SN
SA BB CR(SH) - NRAY - A S o S
0 4 o
ZOH=ERAIE 2SXA = 3,099,764
Al 2,164,425
HOoHeI=X2 23 754,998
= 304,332
Al 450,666
307 2IZ2t0lA 754,998
= 304,332
Al 450,666
02 gltFaEx 754,998
OFojI=NB 2 754,998, 0002 *1H £ 754,998
& 304,332
Al 450,666
O MLTHEANE 2T 411,297
= 246,778
Al 164,519
307 2IZ2t0lA 411,297
= 246,778
Al 164,519
02 glztFaEx 411,297
ORI RATEAIE 2
411,297,000 * 1A 411,297
& 246,778
Al 164,519
i ssHEIld 29 195,873
= 19,587
& 48,968
Al 127,318
307 glztold 195,873
= 19,587
& 48,968
Al 127,318
02 glZtFaeEx 195,873
O BEMEIN 2
195,873,000& » 14! 195,873
& 19,587
= 48,968




SM: AE ST
M AS=X0IY TH Y A
el FOHRI=XIAE 22 (9l &8

=
e
Ja
>
Ol
A

SNBSS - MEAY - BES 0l &k 24

=1

R

121
==
El
i
oy

el

Al 127,318

U ESHEH 2E 161,356 150,920 10,436
48,407

HT

Al 112,949

307 gI2tol & 161,356 150,920 10,436
48,407
Al 112,949

HL

02 fltFateEx 161,356 150,920 10,436

161,356,000 * 101 £ 161,356
48,407
Al 112,949

HI

ZOHIHIIESAE 29 120,096 109,859 10,237
36,029

HL

Al 84,067

307 gI2tolA 120,096 109, 859 10,237
36,029

HL

Al 84,067

02 fltFatEx 120,096 109,859 10,237

120,096,000 * 174 & 120,096
36,029
Al 84,067

HI

O MEAL 2R 3,907,019 2,792,591 1,114,428

H

2,930,264
Al 976,755

307 gI2tol& 3,907,019 2,792,591 1,114,428

H

2,930,264
Al 976,755

02 gltFdateEx 3,907,019 2,792,591 1,114,428

3,907,019,000& * 14! 3,907,019
2,930,264
Al 976,755

i

04
2
e
M
S
HT
foh
=
x
Ho
02

154,079 140,787 13,292
15,408

HL

in

38,520




AN A2 =X
M AZ=X0IBE 2L L HOHI=EX A

CHel EOJQISTIAIE 29X (et9l: &2
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
HOHI=2AESAIE 2Y Al 100, 151

307 gQiz2tol™ 154,079 140,787 13,292
= 15,408
L= 38,520
Al 100, 151
02 SltFAExX 154,079 140,787 13,292
O =AUESAIE 2
154,079,000& » 14! 154,079
= 15,408
= 38,520
Al 100, 151
T SAHEH2 Y 112,212 107,120 5,092
= 46,672
Al 65,540
307 2IZ2t0lA 112,212 107,120 5,092
& 46,672
Al 65,540
02 fltFaEx 112,212 107,120 5,092
O3S dHE MME LY
7,200,000& *1¢! 7,200
= 2,160
Al 5,040
O=3sts%dH 23| 105,012,000& * 14 105,012
& 44,512
Al 60,500
ZOHAIE M2 XA 10,800 10,800 0
= 3,240
Al 7,560
307 glz2told 10,800 10,800 0
L= 3,240
Al 7,560
02 BltFAExX 10,800 10,800 0
OROHQIAIL THH2202 X2
10,800, 0003 * 14! 10,800
& 3,240
Al 7,560
ZOHQIMEAIL 22| dgeld K& 96,000 115,200 A19,200




D A= R Dt
DAEI=RDIE T Y ZHU=R SH
C HQI=TAIE 2ENE

SN S(B) - NRAY - B2 Aro B =2
0l &
ZOHQIMEAL 22| MEeld TR = 28,800
Al 67,200
307 glz2told 96,000 115,200 A 19,200
= 28,800
Al 67,200
02 QPSR 96,000 115,200 A 19,200
OBOHQIMEBAIL 2| HEQI X2
96,000,000& * 14! 96,000
= 28,800
Al 67,200
ZOHQIAIESALA /IS K& 1,000 1,000 0
= 300
Al 700
301 ptEas 1,000 1,000 0
L= 300
Al 700
01 A2 E =03 1,000 1,000 0
OZOMHAANESAA /S WS
500, 000& 22! 1,000
= 300
Al 700
ZOHQIMATHE AL HiSHl XI&A 10,000 10,000 0
= 3,000
Al 7,000
307 glztold 10,000 10,000 0
L= 3,000
Al 7,000
02 SltFaEx 10,000 10,000 0
OZOEATHE AL HHSHI
10,000,000& * 174 2 10,000
= 3,000
Al 7,000
ZOHAAE JISEH 388,353 415,056 A26,703
= 180,000
2 8,506
L= 54,000
Al 145,847




AN A2 =X

B AS=XIE X8 2 RRA=K S
ol MOpOIAIE D52 CLE-ED
S ED .S (B0) - NRAY - BAS 0f b e H RS2

Fojel=Xz JIsE2 28,353 0 28,353

= 8,506

Al 19,847

402 RIZ2FX =0 28,353

= 8,506

Al 19,847

01 QIZERtE 28,353

Q&M= 2 28,353,000 * 14 28,353

= 8,506

Al 19,847

ORI A A THE Al g 360,000

= 180,000

& 54,000

Al 126,000

402 BIZ2HX =0l 360,000

= 180,000

& 54,000

Al 126,000

01 QIZEREE X 360,000

O Zofers SANE JseEd

360,000,000 * 14! 360,000

= 180,000

= 54,000

Al 126,000

ZOHel ME HOIMS 241,630

= 3,800

= 15,000

& 51,300

Al 171,530

ZOHel ME Ho| MBS 16,830

201 2B2dy 13,230

01 At22e 3,240

O1 =2t 2,740

> HOHRIAtSXH = XM Z 8003 *2,8000H 2,240

> ZOoH EFXFY SHAE 500




SA
X XH .
(=

chel:

At=l = K| 2t

A2l S X8 &4 5
ZoHel e oK

22
J2

20
B
2

OAMZ 20021 1,0000H 200
ozg 3,0002 *1007H 300
06 Yx2 500
> HHU2DE BSFY JHMALE 44
2 5000002 * 174 £ 500
02 ZT2YY 9,990 9,720 270
O1 2322 2 XAl 9,990
> H2AFOHQ QI SEDIINE=3=
370,00024 #27CH 9,990
202 OFHl 3,600 3,432 168
01 =Uhord 3,600 3,432 168
OBI=T 4P &
300,0002! *122 3,600
SOIEZORQ FEIHZALY 7,600 3,800 3,800
= 3,800
= 1,140
Al 2,660
206 MRl 7,600 3,800 3,800
= 3,800
= 1,140
Al 2,660
01 Mzl 7,600 3,800 3,800
OSOEZ Ml ey
7,600, 0002 * 14! 7,600
2 3,800
< 1,140
Al 2,660
HAUNATERZ 2% X 24,000 23,000 1,000
= 7,200
Al 16,800
307 QI2H0IF 24,000 23,000 1,000
= 7,200
Al 16,800
02 SItFY 24,000 23,000 1,000
ogHoel 2 2
24,000,000 *14} 24,000




SM: AEI= XD
M ABSXI|Y TH Y DOjRI=K EA

Ciol: Xojol ME BN (5 &2
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
= 7,200
Al 16,800
T S SBAY 30,000 15,000 15,000
= 15,000
Al 15,000
307 QI2H0IF 30,000 15,000 15,000
= 15,000
Al 15,000
02 LAANBE 30,000 15,000 15,000
OF0jel S 25AY 30,000, 00021 *14] 30,000
= 15,000
Al 15,000
ols= MY 29U N 40,000 40,000 0
= 2,000
Al 28,000
307 QI2H0IF 40,000 40,000 0
= 12,000
Al 28,000
02 LABNBE 40,000 40,000 0
ools=SHY 2| 40,000, 0002 * 14! 40,000
= 12,000
Al 28,000
A2EE Ol TRIRRME 2EX 21,000 21,000 0
= 6,300
Al 14,700
307 QI2t0IF 21,000 21,000 0
= 6,300
Al 14,700
02 QIABNSZE 21,000 21,000 0
OANLZ0H HNAME 29
21,000,0002! *14} 21,000
= 6,300
Al 14,700
ZoHe PRIA N 16,800 16,800 0
= 5,040
Al 11,760




SM: AEI= XD
Hu: AS|=XOIY T4 Y HOQ=T A
H9l: FOHOI ME WOIH 3

SN EY O (BH) - MRAY - BLS 01l & o Bl
Gil &t 0

307 2IZ2tolA 16,800 16,800
& 5,040
Al 11,760

02 QItFAE X 16,800 16,800
Q&M a4 K& 16,800,000 * 14! 16,800
= 5,040
Al 11,760

ZoHel 2 A== 26,400 26,400
= 7,920
Al 18,480

307 2IZ2t0lA 26,400 26,400
& 7,920
Al 18,480

02 QItFAE X 26,400 26,400
OFOfe A2 PER 26,400, 0008 *14! 26,400
& 7,920
Al 18,480

ZO0He E=stw K& 10,000 10,000
& 3,000
Al 7,000

307 glztold 10,000 10,000
= 3,000
Al 7,000

02 QtFAaE X 10,000 10,000
OFOjQ S45tn X2 10,000,00021 * 14! 10,000
& 3,000
Al 7,000

ZOHe IASAA 249 29,000 29,000
& 8,700
Al 20,300

307 glz2told 29,000 29,000
L= 8,700
Al 20,300

02 SltFAExX 29,000 29,000




COARRI S At
AR RO 24 2 ZHISKA S8
DO ME HOMNS

SN C(BH) - NRAY - HES Aro Bl 2
Ol &k
OZ0HQ CIASAIA 23
29,000, 000& *1JH 2 29,000
= 8,700
Al 20,300
ZOHel HoAld XU 24 20,000 0 20,000
307 2IZ2tolA 20,000 0 20,000
02 QItHAaE xR 20,000 0 20,000
O BAANE XNAHEH 29
20,000, 0003 * 14 20,000
Ol MEOIY 2 3,492,016 4,157,200 A665,184
= 2,413,641
= 10,000
& 316,012
Al 752,363
ZOoHel ol=zdl XI& 98,388 90,000 8,388
= 78,711
& 5,903
Al 13,774
301 YotEaz 98,388 90,000 8,388
= 78,711
& 5,903
Al 13,774
01 ASIE2EE=63 98,388 90,000 8,388
O=0HQl o 2H| X 81,688,0002 *14} 81,688
= 65,351
= 4,901
Al 11,436
O&EMABET AN 16,700,000 * 14 16,700
2 13,360
< 1,002
Al 2,338
FH= X2 3,081,125 3,820,000 AT38,875
= 2,156,788
& 277,301
Al 647,036
301 YPtEaz 3,081,125 3,820,000 AT38,875




AN A2 =X
M AZ=X0IBE 2L L HOHI=EX A

Chel: ojol MEOIN D3 (el @)
= Sl (31 H) - NIZAY - Bla = o e 2t
B4 = 2,156,788
= 277,301
Al 647,036
& 3,081,125 N738,875
=4 3,081, 125,000 *1 3,081,125
= 2,156,788
= 277,301
Al 647,036
& XA Sl K& 20,599 AN401
= 16,479
& 1,236
Al 2,884
e A= 20,599 AN401
= 16,479
& 1,236
Al 2,884
IIBHHH 2 20,599 AN401
OFOIQ X4 & 20,599, 00021 14! 20,599
= 16,479
= 1,236
Al 2,884
x s=xg 1,440 240
= 720
& 216
Al 504
g A= 1,440 240
= 720
& 216
Al 504
&t 1,440 240
= 1,440,000 *14] 1,440
= 720
== 216
Al 504
& g9 x 8,511 4,511




SM: AEI= XD
M ABSXI|Y TH U DOjI=K EA
Pl FOHOl MEBOIY 3

SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K %Eﬁiﬁ Hws2
ROHQ HEREIIT D = 6,808
= 511
Al 1,192
01 YerEaz 8,511 4,000 4,511
= 6,808
& 511
Al 1,192
01 AIBEH2HI 8,511 4,000 4,511
OO MELEIIT DL
8,511,000 14! 8,511
2 6,808
= 511
Al 1,192
ZOHOIS4S XIS 220,193 190,000 30, 193
= 154,135
= 19,817
Al 46,241
301 LsrBAZ 220,193 190,000 30, 193
= 154,135
= 19,817
Al 46,241
IIEEEEESE 220,193 190,000 30, 193
OBHOIS 2L+ N
220,193,0002! 14! 220,193
2 154,135
= 19,817
Al 46,241
ZOjel ALHE X 19,760 14,000 5,760
= 5,928
Al 3,832
301 YA 19,760 14,000 5,760
= 5,928
Al 13,832
IIEEEEESE 19,760 14,000 5,760
OZojol AL 19,760,0002 * 14! 19,760
= 5,928




2AM: AtRIS X0
I Atel=X0Ier =4 2 F0jel =l
Chel: ojol MEOIN D3 ol & @
SN HH G (EH) - MBAY - BYS Ak e 2
Ofl &4 4
Al 13,832
HAZ0H0ls ASEHOI& # 25,000 0 25,000
= 10,000
Al 15,000
307 QIt0IA 25,000 0 25,000
= 10,000
Al 15,000
01 dz2+=4| 25,000 0 25,000
OFATMOIES 2IBEH ==X
25,000,000 * 14 25,000
& 10,000
Al 15,000
Aol SEHI(HIZ20d) X 12,000 12,000 0
& 3,600
Al 8,400
307 QIZt0IA 12,000 12,000 0
& 3,600
Al 8,400
01 dz2+=4| 12,000 12,000 0
OEOel 28I (HI20) X2
12,000,000 * 14 12,000
= 3,600
Al 8,400
ZOHO A S4tdHl X& 5,000 5,000 0
& 1,500
Al 3,500
301 Lptsazg 5,000 5,000 0
& 1,500
Al 3,500
01 AMIEBHEHESGZ3 5,000 5,000 0
OHMHAHS Satdl X3 1,000,000& *50! 5,000
< 1,500
Al 3,500
ZOHel AbsI &0 &HH 1,659,726 970,881 688,845
= 964,095
& 127,420




AN A2 =X

o AB=X0IM R L BOjOI=X EX
CHol: ZOHOI ALSIEOl B O (cHel i el)
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
ZOHQl ALSIE O EHCH Al 568,211
252l stitE sH K& 7,473 5,300 2,173
& 2,242
Al 5,231
301 EtEa= 7,473 5,300 2,173
= 2,242
Al 5,231
10 AIAHIEAZ 7,473 5,300 2,173
OZ3%el stits =Hd X 7,473,000 14 7,473
= 2,242
Al 5,231
ZOHQISX LRtel At 7,571 7,675 A 104
= 3,785
= 1,136
Al 2,650
307 2IZ2t0lA 7,571 7,675 A 104
= 3,785
& 1,136
Al 2,650
02 QUAFAEX 7,571 7,675 A 104
OZOHRI=X LR2l AL 7,571,000 14! 7,571
= 3,785
o= 1,136
Al 2,650
HOHCESEXTXSAAMN(HIRA) 953,251 864,286 88,965
= 667,275
= 85,793
Al 200,183
307 2IZ2t0lA 953,251 864,286 88,965
= 667,275
= 85,793
Al 200,183
05 QIZtEZ 953,251 864,286 88,965
ORI EETESEPI=
953,251,000& » 14! 953,251




SA

At=l = K| 2t

Mo ABSX I T L RSN EA
SH9l: ZHOHOI ALBIEOl O (9l @2l
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 Sl ko HRE2
= 667,275
< 85,793
Al 200, 183
Zojol 2stSoel BEXW 2,700 3,000 AB00
= 810
Al 1,890
307 QI2t0IA 2,700 3,000 A 300
= 810
Al 1,890
VREEIEPES 2,700 3,000 300
OFl 25S0te HEXL
2,700, 00021 %17 4 2,700
= 810
Al 1,890
Zojol 2AE 45 L DFSA HIF N 7,500 7,500 0
01 YsBA2 7,500 7,500 0
10 BAIAHIENS 7,500 7,500 0
OFOHQ 2E CH3l L RESHL FIIR O
HIE & 100,000 750! 7,500
ZOHQl 2ted AL K& 28,000 28,000 0
307 21201 28,000 28,000 0
02 flZtFaEx 28,000 28,000 0
OFOHQ SAHAHE &It
2,000,000& %13l 2,000
O 0HIole HAH K& 6,000, 000& *13] 6,000
OFFHMIBOIY SH e
20,000,000& 13| 20,000
ZOHel &AMl K& 35,400 34,600 800
307 glz2told 35,400 34,600 800
03 At2IHHEXS 35,400 34,600 800
O(ANBH2AIZLH 01 QI 018 5] 2 AIKIS
5,200,000& * 14! 5,200
OB2FMIL DS AZAK S
4,500,0002 %141 4,500
OLATAMMZHOI=TIE FEAIKE
4,800,000& 1Al 4,800
OAEISXBe BT 2AXEX 2
1,700,000& *23] 3,400




2AM: AtRIS X0
HMa: AB=XDIY ZH W HOQI=N X
ol Fojol ASIEO Y (el @)
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
0 & 24
O(A)Z2E =0te! 83l FAIX S
9,500,000& =14 9,500
O(AD S X MBS 2=AIKXIZE
8,000,000& * 14! 8,000
o = NXHMHERD K& 22,231 20,520 1,711
= 11,115
L= 3,335
Al 7,781
101 Q12| 22,231 20,520 1,711
= 11,115
= 3,335
Al 7,781
10 JIZtH22AsSE* 22,231 20,520 1,71
OHOl =B XXIMEHE<0
22,231,000& 14! 22,231
= 11,115
= 3,335
Al 7,781
ZOoHel 82X FIHAA 150,000 0 150,000
307 QI2t0IA 150,000 0 150,000
02 tHAEX 150,000 0 150,000
OBMABELET FIHX
150,000, 000& =14 150,000
HEZHe WA 50,000 0 50,000
= 40,000
= 3,000
Al 7,000
307 QI2toIH 50,000 0 50,000
= 40,000
= 3,000
Al 7,000
02 fltFdatEx 50,000 0 50,000
OGEZMe WAL 50,000, 000& * 14! 50,000
= 40,000
= 3,000
Al 7,000
50,000 0 50,000

ZONQIDIE XA ME X &
|




SA

X{ ZH -
S =

At=l = K| 2t

ol ZOjo! ASIE O SO (S5 &)
SN EB -GS - MBAY - BES 0 & 24 e HRE2
307 21201 H 50,000 0 50,000
VECEIEPTES 50,000 0 50,000
OZMHQUNSXHMEI TR 50,000,008 %14 50,000
204 OF S TH & Xl 2 AbES 345,600 0 345,600
2 241,920
= 31, 104
Al 72,576
307 21201 H 345,600 0 345,600
2 241,920
= 31,104
Al 72,576
05 QIIES 345,600 0 345,600
OF OHOHS T & XI 2 AFLS 345,600,0002! #141 345,600
2 241,920
= 31,104
Al 72,576
LK X Y BIANL 2Y 32,669,635 28,374,723 4,294,912
2 17,035,386
= 651,662
= 3,693, 148
Al 11,289,439
LEASEE X 23,605, 171 17,740,074 5,865,097
2 16, 162,200
= 2,754
= 1,574,867
Al 5,875,350
INE-HHS NS 22,156,491 14,291,830 7,864,661
2 15,622,000
= 1,306,898
Al 5,227,593
01 YL 22,156,491 14,291,830 7,864,661
2 15,622,000
= 1,306,898
Al 5,227,593
IIEEEEEYE 22,156,491 14,291,830 7,864,661




A ASISE X
H: o= BX U AL 29
o9 LSASSET X Rk
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
OJlxzgdz X3 22,156,491,000& » 14! 22,156,491
= 15,622,000
T 1,306,898
Al 5,227,593
S olxE 383,280 518,400 A 135,120
== 114,984
Al 268,296
301 dE8AZ 383,280 518,400 AN 135,120
= 114,984
Al 268,296
01 A EEE 6= 383,280 518,400 A 135,120
O&LLoxH 383,280,000 14 383,280
o= 114,984
Al 268,296
Lol xiel At 1,060,400 1,090,890 A30,490
= 530,200
& 152,985
Al 377,215
307 QIZtoIA 1,060,400 1,090,890 30,490
= 530,200
& 152,985
Al 377,215
02 QI2HEAAMNEX 1,060,400 1,090,890 A 30,490
Ol AF 1,060,400, 0003 * 14! 1,060,400
= 530,200
< 152,985
Al 377,215
Lol He Ot ALY 5,000 5,000 0
= 2,754
Al 2,246
307 2I2tolA 5,000 5,000 0
= 2,754
Al 2,246
02 QI2HEAAMNEX 5,000 5,000 0
OLoldHe Ot AL 1,250, 000& *4JH A~ 5,000




SA
X XH .
(=

chel:

HL

14,500

SN I SRI(S) - NRAY - B 01l &t o Soe B RS2

= 2,754
Al 2,246

LosTAE XA 5,537,769 6,772,260 A 1,234,491
= 646,226
262,245
= 2,050,805
Al 2,578,493

LolMEAIYE 23| 971,646 3,840,000 AN2,868,354
= 582,988
Al 388,658

307 QI2toIA 971,646 3,840,000 N2,868,354
L= 582,988
Al 388,658

02 SltFAExX 971,646 3,840,000 N2,868,354
OLClMEAld 23| 971,646,000 14! 971,646
= 562,988
Al 388,658

HdZLAEERIALE A 1,292,452 1,292,452 0
= 646,226
& 193,868
Al 452,358

402 QIZEXE0|H 1,292,452 1,292,452 0
= 646,226
L= 193,868
Al 452,358

01 QtR=Ex 1,292,452 1,292,452 0

OHSLANEQUAL A=

1,292,452 ,000& * 14! 1,292,452
= 646,226
= 193,868
Al 452,358

SOMII=EAAIE JISsEHAY 29,000 29,000 0
= 14,500
Al 14,500

402 QIEXE01M 29,000 29,000 0




AN A2 =X

BE: Lol=X 53 U ¥RAM 29
el L= TAIE X (sl &
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
402 SIZ2HX =0l Al 14,500
01 QtR=8=x 29,000 29,000 0
OMNA=XAE JIsEH
14,500,000 *270 2 29,000
= 14,500
Al 14,500
MOt I=XAIE 23| 755,038 700,300 54,738
= 156, 149
Al 598,889
307 2IZ2t0lA 755,038 700,300 54,738
= 156, 149
Al 598,889
02 glztHaEx 755,038 700,300 54,738
OMIMH =X AIE 2SI
83,893, 110& *90H A& 755,038
= 156, 149
Al 598,889
ALk NE SHUES(MESH) 2,123,248 0 2,123,248
L= 1,273,949
Al 849,299
307 2IZ2t0lN 2,123,248 0 2,123,248
& 1,273,949
Al 849,299
05 QIZtREZ 2,123,248 0 2,123,248
OFIIQULZX N ZLHUSI(NES
o) 2,123,248,000& 1Al 2,123,248
= 1,273,949
Al 849,299
Aeg A KE SHUEZ(MIIS0) 366,385 0 366,385
= 91,59
Al 274,789
307 QIt0IA 366,385 0 366,385
= 91,59
Al 274,789
05 GIZtREZ 366,385 0 366,385




S AEST D
o o= X Y BRAM 29

=

CHel: LoI= AL X8 (9l &2
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
O&IAx=Z X X Z2EHUES (Mt
o120) 366,385,000 * 14 366,385
= 91,59%
Al 274,789
COIIIAE 2E XA 2,390,539 1,810,632 579,907
= 257,931
== 37,420
Al 2,095, 188
LolsXE 24| 390,667 365,000 25,667
= 86,693
Al 303,974
307 QI2tolA 390,667 365,000 25,667
= 86,693
Al 303,974
02 QI2HEAMNEX 390,667 365,000 25,667
OLoIEE=x2 22|
390,667,000 *1JH A 390,667
= 86,693
Al 303,974
A=Y 29Hl X& 15,000 15,000 0
= 4,500
Al 10,500
307 QI2tolA 15,000 15,000 0
& 4,500
Al 10,500
02 QIHEAMNEX 15,000 15,000 0
OaHuzsx 29 15,000,000& = 1A 15,000
T 4,500
Al 10,500
Het=olg] |FAIXNE X& 38,260 21,200 17,060
307 QIZ2+tolA 36,960 21,200 15,760
02 oIt AE X 15,760 0 15,760
OLoIYRSE T2 29|
5,760,000& * 1A 5,760
okLols24| 10,000,000& =14 10,000
03 ABISHEEZ 21,200 21,200 0




AN A2 =X

o o= X Y BLAM 29
9l LOI0IIIAIA 2K (S5 &)
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
SEEFCEEENHEIEET]
21,200,0002!+14] 21,200
402 PIZEXHEOIH 1,300 0 1,300
01 DIAN=ELE 1,300 0 1,300
OFC 1,300,000 *1CH 1,300
2orLoigs 2yl 1,500 13,200 A1,700
307 2120l 1,500 13,200 A1,700
03 AEICHZES 1,500 3,200 A1,700
Osotoltis 2| 1,500, 00021 #14] 1,500
Y2y 29 900,212 626,532 273,680
= 171,238
Al 728,974
201 Yeregy) 15,972 8,640 7,332
01 ARl 15,972 8,640 7,332
O1 ger+st) 14,992
PARY oM B3
6,000 x3807H £ *43] 9,120
DOHEE JtUUY F2Y ASI 2
HaLE(HHTA) 5,872,002 14! 5,872
03 294+¢ 980
PURYS ARSI SoIFALY
70,0002 %791 %23 980
307 2120IH 834,240 617,892 266,348
= 171,238
Al 713,002
02 SINHNEZX 884,240 617,892 266,348
OF2ZY 2| 834,840
>ARY S 330, 00021 +3517H 2 #43] 463,320
= 100,440
Al 362,880
>ARY Lyl 371,520, 00021 #14] 371,520
= 70,798
Al 300,722
OF2Y 23 2¥El 300,002 *25)H 2 #43] 30,000
OF2RY SWELE I (VAT AA)
70,0002 #1704 2 1,900




S AEST D
o o= X Y BLAM 29
o

Sl LOIGIAIE 2RI (S5 & 2)
SA-EFH - SA(SAH) - MREAY - BES Off &F K %Eﬁiﬁ Hws2
Oolgetdd Jtpol Atgl
300, 0002 *257H £ 7,500
A2Y oyl X 67,400 56,000 11,400
= 20,220
Al 47,180
307 BI2tOIH 67,400 56,000 11,400
= 20,220
Al 47,180
2 QIAFABE 67,400 56,000 11,400
OFRY L (RE=) 67,400, 0002 * 14! 67,400
= 20,220
Al 47,180
Y2Y IISEY AY 540,000 520,750 19,250
401 Al&HI L2 200,000 315,750 A115,750
01 AlZH] 200,000 315,750 AT115,750
OZEY 24 200,000, 0002 * 14! 200,000
402 RIZEXHEOIH 340,000 205,000 135,000
01 PRAEEE 340,000 205,000 135,000
ORAS B2 UE 80,000, 0002 * 14! 80,000
O2%US HiFR B2Y M=
80,000, 0002 * 14! 80,000
OS2 aEe B2y A=
80,000, 0002 * 14! 80,000
OFRY 22wy 25,000, 00021 *47H 2 100,000
ARg 25T IY AKX X 18,000 25,000 AT7,000
= 5,400
Al 12,600
307 eI2t0lH 18,000 25,000 AT7,000
= 5,400
Al 12,600
2 SIABNBE 18,000 25,000 A7,000
OAey Mg DIy B2 29
18,000, 0002 * 141 18,000
= 5,400
Al 12,600
SAFLOICNE X & 6,500 1,300 5,200
|




D QINItAIE 23X

¢ ARl =Xt
D =X B8 8

Sy

o 0

Al

H0

SA - HE - SR(EH) - NRAY - BES & ol S DS
0f & o
402 QIEXE01 M 6,500 1,300 5,200
01 BIZAR=Ex 6,500 1,300 5,200
OJ=LUE HIS I B 6,500
> &kt 20,000 * 1504 3,000
>YM Hie @
3,000, 0003 »14] 3,000
> 2 500,000& 1 CH 500
NZ2g 2gdl X& 21,000 20,400 600
= 6,300
Al 14,700
307 gI2tol& 21,000 20,400 600
= 6,300
Al 14,700
02 gltFatEx 21,000 20,400 600
OgN3zg 24H X 21,000,000& 14! 21,000
S 6,300
Al 14,700
HIZY Z2OH2IXNE 1,000 1,000 0
= 1,000
307 g2Iz2tol & 1,000 1,000 0
S 1,000
02 Q2IAMNEX 1,000 1,000 0
O RHHzg T2 2
1,000, 0003 »14] 1,000
S 1,000
H2ol welsXa o= 381,000 0 381,000
401 AEHIZLS0YI 381,000 0 381,000
01 Al&HI 381,000 0 381,000
OHl22el =ol=X2 AE 381,000,000 *14! 381,000
ol oot & 3,200 64,200 261,000
d=etAargte BHEJ| X 3,200 3,200 0
307 gI2tol& 3,200 3,200 0
03 AHHMEXZ 3,200 3,200 0
OEFARAHNMEHEXE
3,200,000& »14] 3,200




S AEST D
Mo Lol=x SW Q BEAL 29

Siel: D ASDAXIS A (5 &2
SA-EFH - SA(SAH) - MREAY - BES Off &F K %Egﬁ Hws2

DHESHDAK Al ALY 37,780 21,680 16, 100

DHEHDAKI AIAIY 37,780 1,680 36, 100

201 Lpr2 Yyl 17,780 1,680 16, 100

a] 17,780 1,680 16,100

O1 get=2H| 14,000

6,000, 0003 *14] 6,000

|E SAAEF & A

X
R S LXK HM ==&

8,000,002 * 14! 8,000
03 294+g 3,780
>EXACRIY BN +g
100,000% #7901 %13] 700
PNBHSRAN S ZURANE EHALY
70,0002 +89! 33| 1,680
DRIZIAIRITE B2 HON BOIE 42
200, 0002 +791 %13l 1,400
207 STIHLH] 20,000 0 20,000
TECEEET] 20,000 0 20,000
ODYASH2AXY NSNEN B X
NE=L 20,000,000% 20,000
QIO Y RS 845,567 1,151,008 A305, 441
2 236,960
= 128,732
= 30,056
Al 449,819
OItHOIE & olol sAl 2,000 2,000 0
201 Yer2gy) 2,000 2,000 0
03 A=l 2,000 2,000 0
ONT M= 50,0002 +307H 1,500
SR E 50,0002 * 1071 500
DS L A EIIR XN 17,000 14,460 2,540
202 04| 6.000 4,560 1,440
01 =Lfoit] 6,000 4,560 1,440
OLoI=XYR 48 oft) 500, 0002 *122 6.000
01 LerEaz 11,000 9,900 1,100




SN ASI= XD
By Lol=X| SF U DAL 2Y

SHol: Loloid o A SA (el o
SAH-HH . () - MBEAY - BHA2 0 Ak o1 e HRS2
10 SHAIAHIEAZ 11,000 9,900 1,100
O0HOIY & Lolo ¥ &I B4
5,0002 *4009! 2,000
OAIES AR B 0WH| 300, 000& x501 1,500
O sHAF EIHA B4t 200,000& x702! 1,400
OAOIE=Z &EIIA 24t 100, 000& *2501 2,500
OLAE LR 43| &A
150,000& *2401 3,600
SHLQO ME2| A IHA 236,257 393,597 A 157,340
= 165,748
= 20,895
Al 49,614
307 QI2tolA 236,257 393,597 A 157,340
= 165,748
== 20,895
Al 49,614
02 0I2tFAE X 236,257 393,597 A 157,340
OSHEOl Met22|AF IHA
236,257 ,000& x 1A 236,257
= 165,748
< 20,895
Al 49,614
Lol=20| HIRH 101,785 264,676 A 162,891
= 71,212
& 9, 161
Al 21,412
307 QIZt0IA 101,785 264,676 N 162,891
= 71,212
= 9,161
Al 21,412
05 oIzt &3z 101,785 264,676 A 162,891
OLo=20| bH2X K&
101,785,000& * 14! 101,785
= 71,212
< 9,161
Al 21,412
COIAHUECH AFS 5,400 5,400 0




SA
X XH .
(=

chel:

At = X ot

SN EB -GS - MBAY - BES 0 & 24 e HRE2
COIALRE ALY = 3,232
Al 2,168
301 YstEaAI 5,400 5,400 0
= 3,232
Al 2,168
TIEEEERY E] 5,400 5,400 0
OL QAL WAL 30,0002 *1802! 5,400
e 3,232
Al 2,168
SN0l Y oHEEY 60,000 60,000 0
206 T 60,000 60,000 0
01 M=z 60,000 60,000 0
O SHZQIIHY FL2(ABZAI)
3,000,000 %2004 £ 60,000
ZALOl XA 423,125 406,875 16,250
= 125,500
Al 297,625
307 QI2t0ld 423,125 406,875 16,250
= 125,500
Al 297,625
02 BIAAAEE 423,125 406,875 16,250
OREIZAY 29 37,500, 0002 #67} £ 225,000
2 67,500
Al 157,500
OMAS MHIHEQl AANY 29
29,687,500 *67H £ 178, 125
2 58,000
Al 120, 125
OMAS WIH-Ql AAHNE RHZAK &t
L2 2 20,000,0002! *14] 20,000
ZQAE el 249,609 814,869 565,260
Y 29 236, 139 204,899 31,240
201 Yer2y| 219,739 186,219 33,520
01 A2l 2,960 2,000 960
O1 Ler+gH| 2,000
> S AE S S 2,000,000% 14} 2,000




SA

At=l = K| 2t

M LoI=T 2F U QAL 29
ol ZRAIE 22|
S E O (EH) - MRAY - B s e
- T ° - [= Bl e =5 O:H{ﬂ,%
O4 TII=SHI(GEE22X) 960
>ot= 100,000& *3¢2! 300
>E= 100, 000& *3¢! 300
> gst= 70,000 301 210
> oM 3t 50,000& »32! 150
02 2224l 216,779 184,219
O1 2323 £ HAl 14,000
>atEE M= 700,000 * 123 8,400
DEZINERES 2,500,000& *23| 5,000
PER+NHE 150, 000& *43] 600
02 d=dl 198,779
Dol & 2aa e
8143 x8A| 2t 105 x5H 3,419
DSEY SIEZ 2
8143 *802| & *3,000+ 195,360
O3 A& & Hls XYl 4,000
D> St & & (309.95M =01E) HE =Xl
4,000,000& 14 4,000
202 O4dl 2,400 2,280
01 =Wodl 2,400 2,280
OFEHYUA AR =AY 200,000& = 12& 2,400
401 Al&HIZS )Y 14,000 14,000
01 A&l 14,000 14,000
OUxtZ2 FLW 7,000, 000& *2CH 14,000
F23E A€ 9,170 605,670
201 Lt 1,470 1,470
01 At 2eld] 1,470 1,470
O3 2g==¢ 1,470
PELIAFLNAZE B F
70,000 +721 33| 1,470
202 Oidl 1,200 1,200
01 3UWAbI 1,200 1,200
OFEZ3YR =4 =& dl
100,000& *12& 1,200
301 getEazg 6,000 3,000




AN A2 =X

BE: Lol=X 5F U ¥RAM 29
Sl BRAM 22 (sl &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
ENTECE] 6,000 3,000 3,000
OFIIAAFCUUHE FIHARAIE Ast It
s 150, 000& x2021 %23 6,000
405 THAHHE SHI 500 0 500
01 Xt =SFHSHI 500 0 500
O OXE3tnet 500,000 = 1CH 500
S AFZRL 2tel 4,300 4,300 0
201 Lpt3| 1,800 1,800 0
01 At 2eld] 1,800 1,800 0
O1 dBt==ZH| 1,800
DR ALK SN2
300,000& *2J4 X| *32] 1,800
301 YBtEa= 2,500 2,500 0
01 AM3B2EHE=EZ3 2,500 2,500 0
O AF2Z X Ealb] 500,000& *5* 2,500
NEEX & oHH 514,347 550,416 A 36,069
= 64,004
= 127,839
& 25,152
Al 297,352
SS3ZZ ALY 400, 351 400,388 AZ7
= 127,839
& 20,354
Al 252,158
S32ZAME 23| 400, 351 400, 388 AZ7
= 127,839
& 20,354
Al 252,158
101 QIZH| 393,231 351,268 41,963
= 127,839
& 20,354
Al 245,038
10 JIZtHZ2Z2NSES 393,231 351,268 41,963
OZS322AY IR (HEIE M OIE AL
2 Zg) 351,231,000 * 14 351,231




S AEST D
Hm: DS=X Y oHF
o9l BB22AY (St5: & 2)
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
= 127,839
= 20,354
Al 203,088
OZZ2ZAAN 282 L 200043
42,000, 0002 * 14! 42,000
201 Ler2y| 2,320 44,320 A42,000
01 AFRZelt] 2,320 2,320 0
O1 L8| 1,200
>BIIR2AY EX 100, 0002 * 128 1,200
03 2844 1,120
> BBDRAYENSIRE 5ol FALY
70,0002 %801 23| 1,120
202 01l 4,800 4,800 0
01 =Lfoit] 4,800 4,800 0
OZZ22MY NEH
20,0002 x201 102 # 122 4,800
DEET MY 79,996 66,428 13,568
= 64,004
= 4,798
Al 11,194
DEET EBAY 79,996 63,941 16,085
= 64,004
= 4,798
Al 11,194
01 YuBAZ 79,996 63,941 16,085
= 64,004
= 4,798
Al 1,194
01 MEEZELES 79,99 63,941 16,055
Ong=nEH 79,996, 0002 * 14! 79,996
2 64,004
= 4,798
Al 11,194
#9103 XS 34,000 50,000 16,000
Aol FHeerats) 30,000 50,000 220,000
201 L2yl 30,000 0 30,000




2AM: AtRIS X0
Hm: 182 g

ciol: 328l BN (e9: 88
DA - EH O (5) - HRAIY - HH2 0l & 2 Soe HDS2
3 Ene=al 30,000 0 30,000
O Fgees 15,000,000& *23| 30,000
FAHluwe 29 4,000 0 4,000
201 Ysregy| 4,000 0 4,000
01 AtS2t2ldl 4,000 0 4,000
03 2y 4,000
DFSGUH R ZAY 1,000,000& *43| 4,000
MPES (A2 =X} 2,769,617 2,683,997 85,620
LHEHHXIE (AtS =X H) 2,769,617 2,683,997 85,620
ol2gd A ME=2 2,503,937 2,683,997 A 180,060
701 JIEISHAEEZ2 2,503,937 2,683,997 A 180,060
01 JIEIIHEEZ 2,503,937 2,683,997 A 180,060
OS220IAlY MEZ  2.503,937,0008%1A 2,503,937
HASS MATAMBE 2BAY HE2 265,680 0 265,680
404 TINLXEHED 265,680 0 265,680
01 BIILSEIAHNN=2EES 265,680 0 265,680
O HASS MACASD 2oAY HE3
4,100 +5, 400N CH+12& 265,680
HE 2| 114,006 110,382 3,624
oA 2HH| (At =X 1) 52,538 46,594 5,944
ol 2HHI (At =X 1t) 52,538 46,594 5,944
101 14| 48,338 42,394 5,944
02 =% 48,338 42,394 5,944
OAlZI2Z222Y 7,457 3 %2091 «300A] 2t 44,742
SELECPEVEET S
56, 1752 191 %642 3,506
203 ERF&| 4,200 4,200 0
04 BEA2ILRFEI 4,200 4,200 0
ORA2IYRFAI 350,000& 122 4,200
JI2dH(AtaI =X 1) 61,468 63,788 N2,320
JI2dH| (A3l =X 12}H) 61,468 63,788 N2,320
201 sy 42,3883 37,988 4,400
01 AtS22ldl 32,788 29,420 3,368
O1 gts=2Y| 28,000




AN A2 =X

HH: #HEN2HAY|

£r9l: DI =P Ul (AFSI = X3 (9l 8
SNBSS - MBAY - BES 0 & 24 e {imE=Eh
>EA2E+EH 28,000,000 *14] 28,000
O5 =&l 4,788
> Ot 522% 7,000& 192! %33 «12& 4,788
02 2232944l 9,600 8,568 1,032
O1 22232 2 MAl 9,600
> RERS 9,600
0 sJIsH# 1,750 40024 122 8,400
O gtttz 2503 «4004 <12 1,200
202 OdHl 12,480 14,400 A 1,920
01 SLHAHbI 12,480 14,400 A 1,920
O JI=gR+=&0tl 1,040,000& 128 12,480
405 AHAHE SH 6,600 11,400 A4,800
01 KA ESEH=HI 6,600 11,400 4,800
Ocll Ol M =&l & D] 700,000 »2CH 1,400

OPC 1,300, 000& *4CH 5,200




